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QUESTION 1. (a)(8 points) Find the solution set of the following system

Tntay—ry+as =4 T -T3+T3+rs+3ms =6, —n) +ar—x3—-74 =315 =6 @
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(c) (1 points) Gwe me one pomt thatis in t solutlon set of the system in (a).
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QUESTION 2. Let A be 2 5 x 5 matfix such that the second column of A is identica! to the fifth column of A. Let B be
the second column of A and consider the system of linear equ.mon‘; AX = B.

a)(3 pom )[Convm[_& Te that the system is consistent by giving me a point that is in the solution set.
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¥ b);? points) Convince me that the system has infinitely many solutions by givir@ me three points that are m the
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¢)(3 points) Agsume that the numbers : 1, 6, 42,23, 9 are on the main diagonal of A. Can you find |A|? if yes, then

R 1A 100 i XPIn. s By sdhon b (comadel) and B infkdly oy sdiben . JA(AI=0

AX- 8

o
] a b ¢ 4 2h 6
QUESTION 3. (#/points) Let A= |1 e 2| and B = |1 e 2|. Given |A| = 6. Find |B|(Hint: Stare well
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QUESTION 4. (a) (6 points) Let A = | | 5 —8|.If possible find 4",
—4 —19 4|
.-
o o 4 |\l OO 1o 0o 'qoo +8RR R | O O 4100
’ - “HQI'I‘R;-PRg Zio
I 5 € lol O ~ |45 <€ 010 |~ @50
4 -9 4 {00 | -y 4|00 1 nRiNe, 101
LR +f3f | O © 4 "{T O o0 |-SRbR 501|400 “;lzfo‘? | oo |+33115
1 50|21 0~ A 00!-B-95 olo'll“il
o@d ol+ut O JolT Al oollg00
Kowh, L[ -0 -5 /
T4
M 0 o

=2
(b) (4 points)Let A = b a}. Given that A = A~'. Find a possible INTEGER values for a and a possible

INTEGER value for b. .
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QUESTION 5. (8 points) Write the solution set of the following homogenous system as span of INDEPENDENT

points.
2+ 20 4+ dry — 6y =0, 2+ +2r3=-2rs =0, —x — Ty =273+ 33 =0
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QUESTION 6. (3 points)Are the points (1,0,0,8), (2,2,0), (5,3, 2) independent points? explain
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UESTION 7. ider the following f ions:
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ary + Ty —bry oy =12, —az) — 23+ bey + 51y =0, 2axy 4+ 2y — by +exy =0 4(103'&
o 4 -b i} R_1+R_2 (changein R_2) 1 It-)_:l SR . 2
- inR
«« -l Lk 510 2R_1+ R_3(Changein R_3) 0006 12
000 (c-2) -24
20 2 2% O ~ vg RN

a)(4 points) For what values of a, b, ¢ will the system be consistent?
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b)(2 points) For what values of a., b, ¢ will the system have unique solution?
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¢)(2 points) For what values of «, b, ¢ will the system be inconsistent?
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Read:

ax_ 1+x 2-bx3+x 4 =12
6x 4=12. Hencex 4 =2
(c-2)x_4 = -24. Hence (c-2)(2)
=-24. Thus ¢ = -10.
Consistent only if a, b any real
numbers and ¢ =-10

and c NOT EQUAL -10
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QUESTION 8. (6 points) Let A = :i ; 3 j . Use crammer rule to find the value of iy when solving the
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QUESTION 9. Let A = -.3 2 2 3 22
L O

a)y(2 pomts) Use the concept of linear combination of columns and find Cola(A?) (second column of A42)
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b) (2 points) Use the concept of linear combination of rows and find Rows(A
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a  1 -b 1     12
0  0  0  6     12
0  0  0  (c -2)  -24

abadawi
Text Box
R_1 + R_2 (change in R_2)
-2R_1 + R_3( Change in R_3)

abadawi
Text Box
Read:
ax_1 + x_2 -bx3 + x_4  = 12 
6x_4 = 12. Hence x_4 = 2
(c-2)x_4 = -24. Hence (c-2)(2) = -24. Thus c = -10. Consistent only if a, b any real numbers  and  c = -10
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and c NOT EQUAL  -10




